CHM152 Quiz2 25Pts Fall 2017 Name: )‘< M
Show all Work to Receive Credit

rate = k rate = k[A] rate = k[A]? [Al: = -kt + [A]o n[Ali= -kt + In[A]o  R=8.314 J/(moleK)
1/[A) = kt + 1/][A] ti2=[Alo/2k  t12=0.693/k  ti2 = 1/k[A) lnzcl— ~-E—a(i~—1—) e=mc?
t= 0 12 = 0 1/2 = . 1/2 0 k2 R T2 Tl

1.(2 Pts) What is the overall order of the reaction is 9\, _flé_

CO(g) + NO1(g) —> COa(g) + NO(g) ifit proceeds via the following rate expression?

A[CO,]

= k[CO][NO2]
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2.(6 Pts) Calculate the activation energy, E, for N2Os(g) — 2 NOx(g) + 1/2 Ox(g)

given k (at 25°C) = 3.46 x 107 s and k (at 35°C) = 1.48 x 10™ s\,
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3.(6 Pts) For a given reaction, the activation energy is 19.0 kJ/mol. If the reaction rate constant is 8.30 x 10~ M-!s at 298
K, what is the reaction rate constant at 348 K? ;
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